1 ?

ot

5x—2[y +x-3{x-2(3x+y) +y}] & 73]

O -27x - 14y @ -12x -5y @ 4x-1ly

@ 12x+ 10y ® 20x+ Ty



2.

2x— [-3x+2{x-(y-1) -2} EZF

® 3x+y+2 @ 3x4+6y-2

@ 2x -6y ® x+2y-2



(15xy — 10x%) + (—§x> +

YR
-

Y 70

3xy

y2
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4. OE AN TS AT

rlo

@ (-2x7)% = (=x%)? x 3x = 6x1°

@ 2ab + (3a®b)? = a®b = 11ab

® (2x2+5x-T7)+ (=3x2 +6x+6) = —x% + 11x + 2
@ (6a®b + 4a®) +2a = 3b + 2a

® —3x(2x—y) + 9x? = 15x2 + 3xy
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@ 10ab ® 10b

B 6ab

® 6b

@D 6a
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Oh& 1" o] "R 7t=, *ﬂEJ 73‘017} 742} 3b% , a )AL
H17} 274b% + b2 4

® 27a+1 @ 27h+1 @ 9a+1

@ 9p+1 B 27ab +1



(2x° +4x% +6x)+2x L W, A- (2B-A) &

of At 4

A=x(x-2),B

7.

<

3

7t

Hl& o,

S

@ 12 ® 14 @ -14 ® 16

@D -12



A=3x-2y,B=2x+y ¥ M, 2(3A-2B)-3(2A-B) & x, y °l
Pa 4o Lehu?

D 2x+y @ -2x-y ® 5x—y

@ 3x-y

® x-3y



